Opened: For:	May 11, 2015 Annual Contract for Refuse Containers & Replacement	NIPA Toter, LLC	
6100005840		HH	841 Meacham Road
		Estimated	Statesville,
Item	Description	Annual	NC 28677 800-424-0422 Ext 257
		Quantity	000-424-0422 EXt 237
1	96 Gallon EVR II Universal/Nestable Cart Model 79296 - Body Color Brownstone Unit List Price each Total Line	5,000	\$44.10 \$220,500.00
	Lid Color - Brown Unit List Price each Total Line	5,000	\$0.00 \$0.00
	Lid Insert – Read from Street (Existing) Unit List Price each Total Line	5,000	\$0.25 \$1,250.00
	Body Hot Stamp on Left Hand Side (Existing) Unit List Price each Total Line	5,000	\$0.25 \$1,250.00
	Body Hot Stamp on Right Hand Side (Existing)	5.000	
	Unit List Price each Total Line	5,000	\$0.25 \$1,250.00
	Customer Serial Number Hot Stamped on Front of Cart Body in White Unit List Price each Total Line	5,000	\$0.00 \$0.00
	Wheels - 10" Sunburst Unit List Price each Total Line	5,000	\$0.00 \$0.00
	Fully Assembled "Ready to Roll" (Lids Down) Unit List Price each Total Line	5,000	\$1.50 \$7,500.00
	Ultra High Frequency (UHF) RFID Tag Unit List Price each Total Line	5,000	\$0.70 \$3,500.00
2	96 Gallon EVR II Universal/Nestable Cart Model 79296 – Body Color Bluestone Unit List Price each Total Line	5,000	\$44.10 \$220,500.00
	Lid Color - Blue Unit List Price each Total Line	5,000	\$0.00 \$0.00
	Lid Insert – Read from Street (Existing) Unit List Price each Total Line	5,000	\$0.25 \$1,250.00
	Lid Graphic (IML) 4.625" X 20.5" Unit List Price each Total Line	5,000	\$1.50 \$7,500.00
	Lid Graphic (IML) Position - Center of Lid, Read from Street Unit List Price each Total Line	5,000	\$0.00 \$0.00
	Body Hot Stamp on Left Hand Side (Existing) Unit List Price each Total Line	5,000	\$0.25 \$1,250.00
	Body Hot Stamp on Right Hand Side (Existing)		
	Unit List Price each Total Line	5,000	\$0.25 \$1,250.00
	Customer Serial Number Hot Stamped on Front of Cart Bodv in White Unit List Price each Total Line	5,000	\$0.00 \$0.00
	Wheels - 10" Sunburst Unit List Price each Total Line	5,000	\$0.00 \$0.00
	Fully Assembled "Ready to Roll" (Lids Down) Unit List Price each Total Line	5,000	\$1.50 \$7,500.00
	Ultra High Frequency (UHF) RFID Tag Unit List Price each Total Line	5,000	\$0.70 \$3,500.00

or: 00005840	May 11, 2015 Annual Contract for Refuse Containers & Replacement Carts HH		NIPA Toter, LLC 841 Meacham Road	
Item	Description	Estimated Annual	Statesville, NC 28677	
		Quantity	800-424-0422 Ext 257	
3	96 Gallon EVR II Universal/Nestable Cart Model 79296 – Body Color Green Granite Unit List Price each Total Line	98,235	\$44.10 \$4,332,163.50	
	Lid Color - Green Unit List Price each Total Line	98,235	\$0.00 \$0.00	
	Lid Insert – Read from Street (Existing) Unit List Price each Total Line	98,235	\$0.25 \$24,558.75	
	Lid Graphic (IML) 4" X 11" Unit List Price each Total Line	98,235	\$1.50 \$147,352.50	
	Lid Graphic (IML) Position - Center of Lid, Read from Street Unit List Price each Total Line	98,235	\$0.00 \$0.00	
	Body Hot Stamp on Left Hand Side (Existing) Unit List Price each Total Line	98,235	\$0.25 \$24,558.75	
	Body Hot Stamp on Right Hand Side (Existing)	98,235		
	Unit List Price each Total Line		\$0.25 \$24,558.75	
	Customer Serial Number Hot Stamped on Front of Cart Bodv in White Unit List Price each Total Line	98,235	\$0.00 \$0.00	
	Wheels - 10" Sunburst Unit List Price each Total Line	98,235	\$0.00 \$0.00	
	Fully Assembled "Ready to Roll" (Lids Down) Unit List Price each Total Line	98,235	\$1.50 \$147,352.50	
	Ultra High Frequency (UHF) RFID Tag Unit List Price each Total Line	98,235	\$0.70 \$68,764.50	
4	64 Gallon EVR II Universal/Nestable Cart Model 79264 - Body Color Brownstone Unit List Price each Total Line	74,667	\$37.50 \$2,800,012.50	
	Lid Color - Brown Unit List Price each Total Line	74,667	\$0.00 \$0.00	
	Lid Insert – Read from Street (Existing) Unit List Price each	74,667	\$0.25	
	Total Line  Body Hot Stamp on Left Hand Side (Existing) Unit List Price each Total Line	74,667	\$18,666.75 \$0.25 \$18,666.75	
	Body Hot Stamp on Right Hand Side (Existing)	74.007	ψ10,000.73	
	Unit List Price each Total Line	74,667	\$0.25 \$18,666.75	
	Customer Serial Number Hot Stamped on Front of Cart Body in White Unit List Price each Total Line	74,667	\$0.00 \$0.00	
	Wheels - 10" Sunburst Unit List Price each Total Line	74,667	\$0.00 \$0.00	
	Fully Assembled "Ready to Roll" (Lids Down) Unit List Price each Total Line	74,667	\$1.50 \$112,000.50	
	Ultra High Frequency (UHF) RFID Tag Unit List Price each Total Line	74,667	\$0.70 \$52,266.90	
5	64 Gallon EVR II Universal/Nestable Cart Model 79264 - Body Color Bluestone Unit List Price each Total Line	5,000	\$37.50 \$187,500.00	

Opened: For:	May 11, 2015 Annual Contract for Refuse Containers & Replacement Carts HH		NIPA Toter, LLC	
6100005840 Item	Est		841 Meacham Road Statesville, NC 28677	
	Description	Annual Quantity	NC 28677 800-424-0422 Ext 257	
	Lid Color - Blue Unit List Price each Total Line	5,000	\$0.00 \$0.00	
	Lid Insert – Read from Street (Existing) Unit List Price each Total Line	5,000	\$0.25 \$1,250.00	
	Lid Graphic (IML) 2.75" X 12.5" Unit List Price each Total Line	5,000	\$1.40 \$7,000.00	
	Lid Graphic (IML) Position - Center of Lid, Read from Street Unit List Price each Total Line	5,000	\$0.00 \$0.00	
	Body Hot Stamp on Left Hand Side (Existing) Unit List Price each Total Line	5,000	\$0.25 \$1,250.00	
	Body Hot Stamp on Right Hand Side (Existing)	5,000		
	Unit List Price each Total Line		\$0.25 \$1,250.00	
	Customer Serial Number Hot Stamped on Front of Cart Body in White Unit List Price each Total Line	5,000	\$0.00 \$0.00	
	Wheels - 10" Sunburst Unit List Price each Total Line	5,000	\$0.00 \$0.00	
	Fully Assembled "Ready to Roll" (Lids Down) Unit List Price each Total Line	5,000	\$1.50 \$7,500.00	
	Ultra High Frequency (UHF) RFID Tag Unit List Price each Total Line	5,000	\$0.70 \$3,500.00	
6	64 Gallon EVR II Universal/Nestable Cart Model 79264 - Body Color Green Granite Unit List Price each Total Line	5,000	\$37.50 \$187,500.00	
	Lid Color - Green Unit List Price each Total Line	5,000	\$0.00 \$0.00	
	Lid Insert – Read from Street (Existing) Unit List Price each Total Line	5,000	\$0.25 \$1,250.00	
	Lid Graphic (IML) 2.75" X 12.5" Unit List Price each Total Line	5,000	\$1.40 \$7,000.00	
	Lid Graphic (IML) Position - Center of Lid, Read from Street Unit List Price each Total Line	5,000	\$0.00 \$0.00	
	Body Hot Stamp on Left Hand Side (Existing) Unit List Price each Total Line	5,000	\$0.25 \$1,250.00	
	Body Hot Stamp on Right Hand Side (Existing) Unit List Price each	5,000	\$0.25	
	Total Line  Customer Serial Number Hot Stamped on	5,000	\$1,250.00	
	Front of Cart Body in White Unit List Price each Total Line	5,500	\$0.00 \$0.00	
	Wheels - 10" Sunburst Unit List Price each Total Line	5,000	\$0.00 \$0.00	
	Fully Assembled "Ready to Roll" (Lids Down) Unit List Price each Total Line	5,000	\$1.50 \$7,500.00	
	Ultra High Frequency (UHF) RFID Tag Unit List Price each Total Line	5,000	\$0.70 \$3,500.00	
7	48 Gallon EVR II Universal/Nestable Cart Model 79248 – Body Color Brownstone Unit List Price each Total Line	19,000	\$36.20 \$687,800.00	

pened: or:	May 11, 2015 Annual Contract for Refuse Containers & Replacement Carts		NIPA Toter, LLC	
6100005840	T	HH Estimated	841 Meacham Road Statesville,	
Item	Description	Annual	NC 28677	
		Quantity	800-424-0422 Ext 257	
	Lid Color - Brown Unit List Price each Total Line	19,000	\$0.00 \$0.00	
	Lid Insert – Read from Street (Existing) Unit List Price each Total Line	19,000	\$0.25 \$4,750.00	
	Body Hot Stamp on Left Hand Side (Existing) Unit List Price each Total Line	19,000	\$0.25 \$4,750.00	
	Body Hot Stamp on Right Hand Side (Existing)	19,000		
	Unit List Price each Total Line		\$0.25 \$4,750.00	
	Customer Serial Number Hot Stamped on Front of Cart Body in White Unit List Price each Total Line	19,000	\$0.00 \$0.00	
	Wheels - 10" Sunburst Unit List Price each Total Line	19,000	\$0.0C \$0.0C	
	Fully Assembled "Ready to Roll" (Lids Down) Unit List Price each Total Line	19,000	\$1.50 \$28,500.00	
	Ultra High Frequency (UHF) RFID Tag Unit List Price each Total Line	19,000	\$0.70 \$13,300.00	
8	48 Gallon EVR II Universal/Nestable Cart Model 79248 – Body Color Bluestone Unit List Price each Total Line	5,000	\$36.20 \$181,000.00	
	Lid Color - Blue Unit List Price each Total Line	5,000	\$0.0C \$0.0C	
	Lid Insert – Read from Street (Existing) Unit List Price each Total Line	5,000	\$0.25 \$1,250.00	
	Lid Graphic (IML) 2.75" X 12.5" Unit List Price each Total Line	5,000	\$1.4C \$7,000.0C	
	Lid Graphic (IML) Position - Center of Lid, Read from Street Unit List Price each Total Line	5,000	\$0.00 \$0.00	
	Body Hot Stamp on Left Hand Side (Existing) Unit List Price each Total Line	5,000	\$0.25 \$1,250.00	
	Body Hot Stamp on Right Hand Side (Existing)	5,000		
	Unit List Price each Total Line		\$0.25 \$1,250.00	
	Customer Serial Number Hot Stamped on Front of Cart Bodv in White Unit List Price each Total Line	5,000	\$0.00 \$0.00	
	Wheels - 10" Sunburst Unit List Price each Total Line	5,000	\$0.00 \$0.00	
	Fully Assembled "Ready to Roll" (Lids Down) Unit List Price each Total Line	5,000	\$1.50 \$7,500.00	
	Ultra High Frequency (UHF) RFID Tag Unit List Price each Total Line	5,000	\$0.70 \$3,500.00	
9	48 Gallon EVR II Universal/Nestable Cart Model 79248 – Body Color Green Granite Unit List Price each Total Line	5,000	\$36.20 \$181,000.00	
	Lid Color - Green Unit List Price each Total Line	5,000	\$0.00 \$0.00	
	Lid Insert – Read from Street (Existing) Unit List Price each Total Line	5,000	\$0.25 \$1,250.00	

6100005840	Annual Contract for Refuse Containers & Replacement Carts HH		Toter, LLC 841 Meacham Road	
Item	Description	Estimated Annual Quantity	Statesville, NC 28677 800-424-0422 Ext 257	
	Lid Graphic (IML) 2.75" X 12.5" Unit List Price each Total Line	5,000	\$1.4( \$7,000.00	
	Lid Graphic (IML) Position - Center of Lid, Read from Street Unit List Price each Total Line	5,000	\$0.00 \$0.00	
	Body Hot Stamp on Left Hand Side (Existing) Unit List Price each Total Line	5,000	\$0.25 \$1,250.00	
	Body Hot Stamp on Right Hand Side (Existing)	5,000		
	Unit List Price each Total Line		\$0.25 \$1,250.00	
	Customer Serial Number Hot Stamped on Front of Cart Body in White Unit List Price each Total Line	5,000	\$0.00 \$0.00	
	Wheels - 10" Sunburst Unit List Price each Total Line	5,000	\$0.00 \$0.00	
	Fully Assembled "Ready to Roll" (Lids Down) Unit List Price each Total Line	5,000	\$1.50 \$7,500.00	
	Ultra High Frequency (UHF) RFID Tag Unit List Price each Total Line	5,000	\$0.70 \$3,500.00	
10	32 Gallon EVR II Universal/Nestable Cart Model 79232 – Body Color Brownstone Unit List Price each Total Line	5,000	\$32.20 \$161,000.00	
	Lid Color - Brown Unit List Price each Total Line	5,000	\$0.00 \$0.00	
	Lid Insert – Read from Street (Existing) Unit List Price each Total Line	5,000	\$0.25 \$1,250.00	
	Body Hot Stamp on Left Hand Side (Existing) Unit List Price each Total Line	5,000	\$0.25 \$1,250.00	
	Body Hot Stamp on Right Hand Side (Existing) Unit List Price each	5,000	\$0.25	
	Total Line  Customer Serial Number Hot Stamped on Front of Cart Body in White Unit List Price each	5,000	\$1,250.00 \$0.00	
	Total Line  Wheels - 10" Sunburst Unit List Price each Total Line	5,000	\$0.00 \$0.00 \$0.00	
	Fully Assembled "Ready to Roll" (Lids Down) Unit List Price each Total Line	5,000	\$1.50 \$7,500.00	
	Ultra High Frequency (UHF) RFID Tag Unit List Price each Total Line	5,000	\$0.70 \$3,500.00	
11	96 Gallon Lid Model 79296 – Part Number 899796, B96796 Unit List Price each Total Line	2,165	\$16.20 \$35,073.00	
12	64 Gallon Lid Model 79264 – Part Number 99764, 94764 Unit List Price each Total Line	1,693	\$15.3( \$25,902.9(	
13	48 Gallon Lid Model 79248 – Part Number 99748, 96748 Unit List Price each Total Line	580	\$14.3( \$8,294.0(	
14	32 Gallon Lid Model 79232 – Part Number 99732, 96732 Unit List Price each Total Line	100	\$13.36 \$1,335.00	

05840	Annual Contract for Refuse Containers & Replace	HH	Toter, LLC 841 Meacham Road	
tem	Description	Estimated Annual Quantity	Statesville, NC 28677 800-424-0422 Ext 257	
15	Strap Claw Hinge for Lid – Part 5197-00-000 Unit List Price each Total Line	9,076	\$0. \$635.	
16	Torx Fastener for Lid – Part 5610-00-M522 Unit List Price each Total Line	18,152	\$0. \$726.	
17	8" Sunburst Wheel – Part 6250-08-0200 Unit List Price each Total Line	200	\$4. \$864.	
18	10" Sunburst Wheel – Part 6250-10-0200 Unit List Price each Total Line	8,876	\$4. \$35,770.	
19	Wheel Spacer – 7/8" – Part 5379-00-0000 Unit List Price each Total Line	200	\$0. \$26.	
20	17.5" x 5/8" Axle – Part 5643-00-ZINC Unit List Price each Total Line	580	\$4. \$2,441.	
21	18.25" x 5/8" Axle – Part 5679-00-ZINC Unit List Price each Total Line	1,693	\$4. \$7,432.	
22	22.5" x 5/8" Axle – Part 5647-00-ZNC Unit List Price each Total Line	2,165	\$4. \$10,435.	
23	16tal Line  16" x 5/8" Axle – Part 5632-00-ZINC Unit List Price each Total Line	100	\$10,435. \$4. \$446.	
24	Pal Nut Wheel Retainer – Part 5215-00-PLTD Unit List Price each Total Line	9,076	\$0. \$363.	
25	Stop Bar – Part 5945-20-GALV Unit List Price each Total Line	4,538	\$363. \$1. \$5,717.	
26	UHF RFID Cart Management Hand Held Scanners/Tracking Technology Unit List Price each Total Line	20	\$8,250. \$165,000.	
27	Cart Recycling Credit for Plastic Recovered Credit per Pound Total Line	91,733	\$0. \$9,173.	
28	Delivery Fee per Cart Unit List Price each Total Line	226,902	\$2. \$453,804.	
29	Freight, per cart, FOB Destination for 96 Gallon Cart Unit List Price each Total Line	108,235	\$1. \$1. \$188,328.	
30	Freight, per cart, FOB Destination for 64 Gallon Cart Unit List Price each	84,667	\$1.	
31	Total Line Freight, per cart, FOB Destination for 48 Gallon Cart Unit List Price each Total Line	29,000	\$106,680. \$1. \$33,350.	
32	Freight, per cart, FOB Destination for 32 Gallon Cart Unit List Price (each) Total Line	5,000	\$1. \$5,500.	
33	Optional Old Cart Retrieval & Disassembly Fee Price per Cart Total Line	57,000	\$8. \$478,800.	
34	Data & Hosting Software Support Price per Year per Scanner Total Line	20	\$350. \$7,000.	
35	Scanning RFID Tag or Recording serial number to address list at delivery Price per Cart (Minimum 3,000 carts) Total Line	226,902	\$0. \$136,141.	
	Payment Terms		Net	
	Estimated Annual Total		\$11,730,430.	